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COMMERCE
alawy
PAPER-II
U A=A YA -I] ,
Note :— This paper contains fifty (50) multiple-choice questions, each question
carrying two (2) marks. Attempt all the questions.
R - 2 Ul g4 Yo oigRselly usdl B, el A oL B, wEL ¥ Ul

%ol ALUL.
1. Since 1991, India has adopted Q............Strategy.
(A) ‘Export-led » ® ‘Import-led’
© Deficit-led ‘ - (D) None of these
eurd et dl............ ugld 2u-udl 8. |
@A) [Asr-asl (B) vuua—-asl ,
() vue yas - O Al Asyw R, -
2. Among different strategies the most suitable for economic development, is :
‘ (A) Democracy (B) Communism
} (C) Socialism | .- : (D) None of these
| Aalll 2ulls Rsiu w2............ UPHA veld wgell oy 8.
: @) disud , ®) Wl
; © Wl O il Asvw R,

3. In the next five-year plan, beginning from 1st April 2002, the target 6f India’s
growth rate has been fixed at

(A) 7 5% p.a. : 3 B 6.5% p.a.

(C) 10% p.a. ' ' (D) None of these ;

1l Ylla 002 ol 43 adl vuadl uzmﬁq Qo ool s R

X UMl el 8,

@ o whad O ® s ‘nl?tqti

(C) 10% ulay | @) wHidll Asue AR,
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In the budget 2001-2002, the limit of retrenchment of labour has been raised
to : '

(A) 500 . (B 700
(C) 900 . ®) 1000
0012003 L 6i¥2ai, HoRA 192l sl v, ........ ol ay worn Q‘L&cﬂ
Ui @, wsani »ud 9.
(A) woo (B) 900
(C) «oo ®) 1oo00
Disinvestment of public seétor undertakmgs T-IF: VO ...method for controlling
deficit.
(A) Correct (B) Incorrect ‘
(C) Temporary (D) None of these
dolis &atd sms-&m«a wig yladl............ Al &.
@ wdl - ® il
(C) % G - D) duMill Asug 8,
The theory of Double Entry System of Book-keeping was. first advocated
BYereeireerranne
(A) Leonardo da Vineci (B) Arya Bhatt
(C) Lyca Pacioli D) Leo Tolstoy
el -vuvaliu Rgiard Al van daia ysdir..........8.
@) [axi-usl ¢ w={l B) i Mg |
(O gst Uil ®) il den

The distinction between Capital and Revenue expenditure depends on :
(A) Largeness of the amount of expenditure

(B) Duration of the benefit to be derived from such expenditure

(C) The nature of liability arising thereof

(D) The discretion of the Accounts Manager of the Organisation

4ol i Heyell vl q2A4 dstadrl MR

A wAdHAl Wi sy v

B i wsi- wduidl Gedet el aloisy aﬁq W
(© Quidl Geurt waioietRlAL 43y 43
D) ddrRuidAnL (el Aol QAo
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~ Wipro Ltd. has assets of Rs. 8,50,000 with no Iiabilities, but the shareholders’

equity is Rs. 8,560,000. The company buys five coffee machines worth of -
Rs. 50,000 on credit. What effect this transaction will have on these accounts ?

(A) Assets and Shareholders’ equity each increases by Rs ‘5(’) 000

(B) Assets remain the same and Shareholders’ equity increases by Rs. 50,000
(C) Assets and Liabilities each increases by Rs. 50,000 _ ‘ '
(D) Assets and Shareholders’ equity decreases by Rs. 50,000

(il (. WA 31. 3,40,000 -l Masdl sisu seeldl @R 9, uig wlasi-l
8Badl (eiSin) 3. 3,940,000 Al 8. §u-la\ yin 519l ual-l 31 0,000
Bt ww w2 wilkRe B, it stz 2 Ratell wz 3dl w2 4l ?

A) Pasdl 21 ArdlesAl HBad uds 31. 40,000 ol aad.
B) Fesdl As avll 8 1A Adies+l Badl 31 wo,000 o) qaql.
©) Rasdl A waeieiRlail uds 3. 40,000 ol qudl.

D) Pasdl 24 AelesAl SBadl 31. 40,000 ol yed.
Manufacturing overheads include all of the following, except :
(A) Property tax on factory building

(B) Indirect factory labour

(C) Salary of plant general manager )

(D) Cost of packaging material

Gewedly RN wif As Rl oufl sl 2l wy S,
@A) SR M8l YR Masd A

B) sl ule w1

(€) Wlve ¥+¢ A%+ W2

@) el Al usdr
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10.

11.

12,

13.

If an organisation sells a product at a niargin of 35% on selling price, what
is the percentage of margin on cost price ?

(A) 45.85% : _' B) 53.85%

(C) 60.85% : (D) 63.85%

A s AqaldoL U Bud Y2 3y A susl (Margin) Ub{l\ azg A3, dl
Usdy (Bud w Jedl estil sudl 49 ?

A ¥V.CY SR B) Y3.cuY%
(C) 50.¢\ i D) $3.C9%

Between 1980-81 and 1990-91, India’s GDP increased at an annual average
rate of :

A) 5.5% | | B) 6.5%

(0 3.3% - » | - (D) None of these

UC0-¢1 BN eo-¢a —[1 Q2 ol AN vias a3y alls QA
£d adl.

(A) W. 9% | | : B) Vs.uz
C©) 3.3% @) uiell 2su@ LS.

The actual economic behaviour of the firm cannot be explalned with or without
the concept of : ‘

(A) Price - (B) Cost

(C) Profit O Value

A 2ulls adgsl unoa DA ves Qo1 AHAd A w1,
@A) Bua . B) wd

(© -8l | | D) Yeu

An L shaped isoquant means :

(A) Perfectly elastic factor substitutability .

(B) Perfectly inelastic factor substltutablhty

(C) Variable factor substitutability

(D) None of the above

L usi+{l A4Gclie (isoquant) vl 6l & 3
@A) Gewe-u ol Ayefud RadRaus 8.

(B) Gewgt-i »iol Ayeud BiiRadlauys 8.
© Gewent-it »ioll RudlRanusdl seaidl 8D,
D) GuNYL Asva .
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14. Neo-classical Microeconomic theory has been accused of “Commodity Fetishism”

by :
(A) Keynes ‘ (B) -Marxists
(C) Robinson : (D) Hayek

ol Aaa wgll 6w vedaiel siangi (Commodity Fetishism)
Qs uvdlAl 2wy A [Bﬂuwuaﬂ::l ysul 8.

A) ¥ (B) AUl
(©) Rioflrun , O s
15. “Games Theory’s” widest use is in the analysis of :
(A) Atomic Warfare (B) Conventional Warfare

(C) Duopolistic market situation (D) None of these
o AU AL s GuUial [AAL yussRRadl g WU 9.

(A) 9 4s | (B) AL Yg
© -5 AR @) wudidll Asu
16. A continuous variable : _
(A) take only whole numbers (B) may take any value
(C) take only fractional value (D) none of these
Add AL | |
A) s yals s 8 | B) siouR BHa K15 8
© ss5d wyals sy & @) uill SiduR wawe Al Al

17.  Stratified Random Sampling is used, when :
(A) data given are homogenous
(B) data given are qualitative in nature
(C) data given are heterogenous
(D) no other sampling method applicable
RAs19s wexs Redq Guuidl 8, wud
A) MR 3u1d Siy.
- - B WwRdl ymaas s,
© R QAadu i,
@) ol sivua Fedt 4gl awy - 49 ud cul.
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18.

19.

20.

Normal distribution is :

(A) a discrete distribution

(B) an exponential distribution

(C) a continuous distribution

(D) a distribution without well-defined parameters
nHey [Qdre

(A) dddd Qda 9.

B) wdisly [Ad 8.

©) dd [Ad@ 8,

O 21 RdaA waadl vy ),

The equation of the type : y = a + bx, express

" (x, y are variables and a, b are constants)

(A) non-linear relationship- (B) linear relationship

(C) quadratic relationship (D) none of these |
%t‘-ﬂ!sllily=a+bx:(x,y%&@%ﬁa,b@ﬂ% ®.)

@) Aneilur e enld B, ®) d-luz via suld B,

© [Bud 2elu B. - D) il st et wAl Al

The central processing unit in the computer is :

(A) The central piece of processing equipment and all other input/output
devices are periphéral items. (including backing storage devices)

(B) Operating system

(C) Only storage unit

(D) None of the above

524234 Central Processing Unit (CPU) © :

@) WRAA yfle & ¥ Input/Output, A, [A. 4 s £ &,
B) udoL e 8. ‘

(© $5d AAs Y2 &,

D) GuL slSUR oycust Wl el
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21.

22.

Who has given the principle of ‘science, not the rule of thumb, Harmony, not

~ discord’ ?
(A) Henry Fayol (B) Charles Babbage
(C) Henry Ford D) Frederick Taylor

‘RQandt, gl 3 viogsiell Ry, AaRdl, €l 3 v 0 Rgia 9 2.
Q) &3 344 B) WXl sy

(©) &R 8S | D) ¥s3s 2udr

Who has written the famous book ‘Administration Industrielle et Generale’
or ‘Industrial and General Administration’ ?

() F. W. Taylor (B) Max Weber

(C) Peter Drucker - (D) Henry Fayol

Wyl Yas ‘ASHUMRAUA drsflud 2 yrle’ vydl ‘O-SRflud i wnd
A’ s avy ?

(A) s, Soley. 2UAER B) A& q0R

(©) dler 52 | D) &3 3uia

Who has developed three managerial functions ?

() Managing a business

(it) Managing ‘managers and

(iti) Managing workers and work

Options are : ,

(A) Mary Parker Follet (B) George Elton Mayo
(C) Gilbreth ' (D) Peter Drucker

(@) dald dAEA s9

G) AAasld Aua 59

Gi) s xR sHeld, AAerL $39

AL o Auasly sl S RsRid sal?

fAseyl : |
A) AN wi side (B) %U%F Aee Wl
© Nany D) dler §52
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‘Acceptance theory of authority’ means :

24.
(A) Authority flows from the top, one has to accept it
(B) A communication carries authority only if receiver accepts it
(©) (A) and (B) above
(D) None of the above
Al dlgladl lul (Theory) Ned :
(A) Al G WL 48 B, A wsdl o ).
B) HRQAA @l sami wddl Al 251 Al g sUR 52
dnl Adl sdauy. |
(C) A1 B oim,
D) Gu-u Rseyinidl sidua L.
25. Who is the author of the book ‘Business a Speed of the Thought’
(A) Lee Iacocca (B) Akio Morita .
(C) Bill Gates (D) Tom Peters
Cofliy A2 u ls e 8 dle’ AL sl Avis Hal 8 | 7
@A) dl 2uuisisn B) il Hitla
- (©) oflg ey O 2 e
26. The most effective sales promotion incentive results from :
(A) Price-off : (B) Coupons
(C) Premiums v - D) Contests
Al aud w815 AAAE GA¥L (Incentive) ~NAunisll u{mi 8 :
@A) Faui ge glrl | B) 44+ gl
© Mluu gt @) Q2 walsil gL
27. In establishing sales promotion objectives, marketers :
(A) focus on consumers
(B) focus on trade
(C) concentrate on activities that will increase cbnsumer demand
(D) align objectives with overall ‘organisation’ objectives
imelcgl?m Sl Mufa s wFer
A) Alesl GUR i 3sd 53 Q. |
B) dwR Gu wud ifed s 8.
(©) 3uss Hid 98 ddl g GuR s 30ud 53 B,
D) AU HdRAdA &g WA QDA gy Asar 53 D,
Commerce—II 10




28.

29,

30.

31.

AdVerti_sing effectiveness during an ad campaign is uéually measured by :
) " Post-test . .(B) Inquiries °

(C) Pre-test -(D) Sales comparison

M FAUUL AU AU 5ellell wuRll ArnAld [ aet[&c—t yglasll
PEIURURE

(A) AdAd ul-] suldl (Post-test). (B) YU &I

(€ A3 wddll KA (Pre-test). D) AARA AU g1RL.

The sales manager can assure that sales efforts are continually focussed on
objectives through the use of : o

(A) Sales management policies (B) Sales planning

(C) Sales control techniques D) Sales quota

QauRlll Ml Sl GUR Add 3Fwd 2@ A vl AA safde Fd el A
Ao 42 O ¢

A) A Auad Al glRl. (B) AuIRL A% &l

© Au vigy el grlL. @) Aue sdlel glll.

The general objective of marketing cost analysis is to :
(A) obtain cost data for selling expense budget

- (B determine relative profitability of various sales and marketing operations

(C) keep expenses in line with sales operations

(D) analyse cost by territory N

YSAR Yussel ALY &g

@) A vielrusl W2 usa-ll Rl Aaadl .

® QAR dww wA Wil uBur Aoifd sisisdl FBAA szcﬂ
© A ugRl Rausior wdd uug.

@) RU/AA WD uSdRg YassA 534,

Diversification cannot eliminate risk entirely because shares have........

(A) Company risk (B) Market risk

(C) Employee risk » ((0)] Technology risk
JRelse Ayl A g2 53 A dl skm d ANl B,
@A) $udld Auu (B) wmg Avin

© sduld Aun - @) 2s-ilcliew Avd
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32. The tax depreciation amount multiplied by the tax rate is called :
(A) Depreciation shield ‘ (B) Present value shield
(C) Tax shield _ (D) Asset shield .
QRAR/UAL $AUAL 54 52a2 8] draiel dd-sdaumi 2 8,
(A) HARL QLA . (B) aduil yeu oA
(C) $3d3U KA . D) Masd saa
33. .......... refers to a situation in which a company has only limited funds
. available for investment.
(A) Capital deficiency _ (B) Capital scarcity
(C) Capital laundering (D) Capital rationing 7
-------------- WRRaRA Aseldi Syl wd As@ s w2 wullRd cisia &y .
A) ¥sl vua B) sl vd
(C) 48l “laut (Capital laundering) (D) 3151 HLYoiEll
34. The “hunt-and-peck- method” of obtaining a bond’s yield to maturlty is also
called its................. . :
" (A) Internal _Rat'e of Return . (B) AcCounting Rate of Return
(C) Net Present Value ~ (D) Return on Assets ,
silvsell sl (maturity) wveﬂvﬂ Wil ‘w2 aA-s Ay’ ua[a& ------- YR
seanii wq 8. | :
Q) idRs aqd+dl €3 ® Ruwel aqdzl g2
- (C) Ay, adwid yey ®) Masdl W andr
35. What is the expected return on assets for a firm that has 60% debt- ﬁnanced
 and pays an expected return on debt of 9% and has requlred return on equity
of 20% ? ’ : :
4)  12.3% - » (B) ~13.4%
©) 145% D) 15.6%
A AL 3 3 WA s0 atiefl ~wn yarul (financed) 8 WA gl R e AR
WA Y5d B A dg 0508 wR 0% :; %33 adR B dl Rasdl W 1A/
Qd g ed ? o
A) 1.3% ® 13.¥x
©) wv. % . D N.5%
Commerce—II 12




36.

317.

38.

Human Resource Management is concerned with an organisation decision that
has impact on the : '

(A) Labour force a (B) Potential Vwork force
(C) Administrative work force (D) None of these

WA AAEA AAEA R Aaraldal Refa 0 deig 4ud 8 u& a—u ISIE]
{2 au[&a ouotdl Gu 8.

A) SIMEIR B4 : B é’mﬁa y{'auz'l 2]
©) adladl sl sa - O) il s o .

A key to sustained competitive advantage to business in traditional way -
1S : ' ' |

" (A) Financial capital (B) Physical capital

(C) Human capital D) All of these
Add sRs10YsA aet Adaaidl wIuad adl Aed :
(A -uifla ysl B) «lllas ysl
©) iy 11,51 ‘ | D) 2wl aany.

What is Job Analysis ?

(A) Systematic process of gathering information about a job
(B) To evaluate the job which a person is to perform

(C) To analyse the job Which is to be acquired

D) All of the above

sl yassa wed :

@) sl R WRR As{ld sl AalRad wEu.

B) ald & s sl B Ad yeuis 524 |

© % sl Anaad © dd yass@ 59,

D) GulL «8l %,
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39.

40.

41.

14

Which of the following is the reason to join Unions by the workers ?
(A) To know the perception of the work environment

(B) Influencing "the working conditions _

(C) To take advantage of employment conditions v

(D) All of the above , :

SR HyRAuH] RSttt sl QA sui O

@) stfl qldigaRe Nedaan (Perceptlon) Al Hi2

®) sl YRRk aor Anqq w2

© AU YRRAR GUR 2R WS

@) Gu- oy Rseq.

Training usually does not mean :

(A) changes in specific knowledge (B) changes in skills
(C) changes in attitudes _ (D) changes in wages
AR dtelitl v we adl Al :

@) Assa A 38R ®) Slucumi 3351
(C) adadi §s12 O dAdrRudi 38R

‘Scheduled Bank’ means a bank :

(A) Included in Second Schedule of the Reserve Bank of India Act, 1934

(B) Incorporated under the Indian Companies Act, 1956
(C) Governed by the Banking Regulation Act, 1949

(D) Authorised to transact government business

dsya ds Ned Al ds &

@A) And ds & s S-dlu Ase, 13y AL oflog élsgcmt Al €y
- ® cudly sudl Wl aeys N )

(€) A4l vYAUA R Lewe gl MEbid

D) AW 44l sl ATl qLRBL SR,

Commerce—II ‘ ) 14




42..

43.

44.

Development Banks are :
(A) Land Development Banks whlch prov1de finance for development of
~agriculture -
(B) Branches of Commercial banks operating in rural areas for the benefit
of weaker sections of the society ‘ '

(C) Financial Institutions which provide long-term finance to industries
None of the above

[ﬁsmﬂa ds eq : - | ’

@) P R e e Y3 wsdl w[lvt Rsu olst

B®) Al Ao ol alend e Al sl sl cuwdl st{l e

(©) GadOA Adsin i Y wsdl uRiBa Al

D) Gunidl A5 AlS.
Which of the following is being set-up as an exclusive data communication
network for banks ? '

(A) MICR - .(B) SWIFT

(C) BANK NET (D) All of these

dsi-i QRe 82t siyel3aq Azas w-efl RNAL S 20l s)
A Ax. . fl. R, (B) Au. seiey. »ud. Aqs. 4.
(C) ‘ols A2’ D) duHidl wuda oL,

Which of the following guidelines have been issued by the Reserve Bank of

India to banks in regard to Bank Receipts ?

(A) No B. R. should remain outstanding for more than 15 days

(B) No B. R. should be issued under any circumstances in respect of
transactions in which government securities for which S.G.L. facility is
available _

(C) No B. R. should be issued on the basis of a B. R. (of another bank) held

by the bank '

(D) All of the above

ourdla Aovd ols gl ‘als A2’ A addl ydls YA A5 a2

d 8 :

A) 3l$3‘-ll2l ‘ols 2'[%[18’ Al el 1u Rauell ag [Qdo < adl AS.

B) USRI AN Feil W2 DA, @, A, Al Guach ¢id Al HASIRL
R siduR AenMl ‘s R’ asr wsl aswu e,

©) olle Gisl w s34 ‘ds Jlle’ - u&%m ‘ols A2’ a1 wsl wusiu
8.

(D) GuUR sudd oAl

' Commerce—II | 15 | P.T.O.



45.

46.

A ‘rural branch’ is one which is opened in :

(A) an adopted village |

(B) a place having population of less than 10,000
(C) a place having populatlon of less than 50, OOO
O) None of the above

aeflel weit Hed Al arwy Feoeeeee Ui i 2udl ¢y

(A) eds UM

(B) 10,000 dl il axdlany e
(€) 40,000 #l (il axlanyj -t
@) Gunidl Asu .

State whether the following statements are True or False :

(A) A stale bill of lading is not necessarily a discrepancy under an irrevocable

letter of credit.

(B) An airway. b111 is a document of title to goods

(C) A thorough blll of lading entitles the cons1gnee to recover the goods

directly.

(D) It is necessary for the negotiating bank to verify the signature on the

bill of lading. | |
(1A omuda [Qaiql wAl 9 3 vzl A oeudl :

@) Sd3ee A2 g 3924 Hed Al ofla s aAglon iy s duy

o 0d sid -l

B) ¥R 4 ofld A waABAAl HlASYsd excltdy 9.
(© Ayel ol iis AL gL WA ASRA 531U Hwd TN Al SR M

3 ud 8.

®) WIMNA2 52U Ars W2 ol s ALl Gua+l udlel Asuell sl vias

8.
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The theory of Purchasing Power Parity is derived from the law of one prlce

State whether this is True or False ?
(A) True (B) - False ‘

wleuBa-ll - augdarl [i{alct As Buaril Rugiduidl Geeda 8. wvudl :

A) wy ® i
Export of engineering goods on deferred payment terms and execution of turn-

key projects and civil construction contracts abroad are collectively referred

to as
(A) Subsidiary exports (B) Primary exports
- (C) Merchant exports D) Project exports
O] waMivL 8188 AR gkl s, ‘el 8l s’ o uue[l,&w i
oiiastin addl [Qeall sAUAA-eeen a3 2lavuy 8.
@) AN FAs B) wals [As
© cwwl [Rs D) W%Fse s

Once the exporter chose to denominate the post-shipment credit in U:S. Dollars,

the exchange risk would be of :

" (A) Exporter ‘ (B) Financing bank
(C) EXIM. Bank (D) Reserve Bank of India :
Rsistd Asarz Wize Puive we 2R s Slelui u[%agc-q sul udl, (H[?mqg '
QU oo 4 23
@A) [susR _ B Rpe 2y ols
(C) ‘AsAW o5 O eudly Axnd ds
The bulk of India’s imports consit of the following :
(A) Engineering goods (B) Foodgrains
(C) Textiles | (D) Petro products
GURCA Huyed e Al s 53 8. | :
Q) 9% wawHt (B) U
(C) sWS | @ W Aue.,
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